KARZ20003

Y

oS TARK

by LAMETAL professional

1050124
| item DESCRIPTION
1 | 1050246 Saastéterdsetti 2130 (3x710)
2 | 1050229 Telasto 2000x200
3 | 1050247 KAH2000 telaston nostorunko
4 11050248 KAH2000 kastelu
5 | 1050249 KAH2000 hydrauliikka




JSTARK

by LAMETAL professional

SAdstoterasetti 2130 (3x710)
',I,Ecg{‘ item DESCRIPTION QTY.

1 8538003 | OF500 - SAASTOTERA 220x16x710

2 |8357005| FH 3/4"'x57 SAASTOTERAN PULTTI

N |0 W

<) 3 (8537002 3/4" SAASTOTERAN MUTTERI




V| STARK

by LAMETAL professional

1050229
ol item DESCRIPTION QY.

1| 2500207 2000 harjatelan hitsaus 1
2 2500072 Moottorin pesd 1
3 2500073 Padatylaippa-akseli 1
4 8354003 Harjalamelli 7" x 200 45
5 18354015 Valirengas 7" 44
6 8352046 | KUUSIORUUVI M12X30 933/8.8zn 10
7 12500213 25 moottorilaippa hitsaus ]
8 8352144 M10 DIN 9021 1
9 18352091 M8 DIN 6798A 1

8352059 Kuusioruuvi 933/8.8zn M8x20 1




o TARK

Y

by LAMETAL professional

KAH2000 telaston nostorunko

ITEM

NO. item DESCRIPTION QTY.
1 8353004 UCFL 208 Asahi 1
2 4501042 2000 harjan lokari 1
3 2500555 KAH2000 PUOMI HITSAUS 1
4 4000289 Moottoripuolen sivupalkki 1
5 4000290 Sivupalkki laakerille |
6 2500218 Iso KH veivi 2
7 4504340 Suojakumi 2000 1
8 4504337 ROISKELATTA PL4 30X1000 2
9 8352060 Kuusioruuvi 933/8.8zn M8x25 8
10 | 8352103 NYLOC-MUTTERI M8 8
11 | 8352091 M8 DIN 6798A 6
12 | 8352059 Kuusioruuvi 933/8.8zn M8x20 6
13 8352050 Kuusioruuvi 933/8.8zn M16x40 2
14 | 8352077 NYLOC MUTTERI M16 DIN 985 ZN 2
15 | 8352046 KUUSIORUUVI M12X30 933/8.8zn 8
16 | 8352076 Nyloc-mutteri Din 985 Zn Nm12 8
17 | 8353009 liukulaakeri 50x55x50 4
18 | 8356003 Rasvanippa M8x1,25 2
19 | 2500332 KAH alatappi 2
20 |8352012 Aluslevy Din 125 Zn M10/ 10,5 2
21 8352152 M10x35 DIN 933 2
22 | 8355004 Peitekumi 924 L=380mm 2




VI STARK

by LAMETAL professional

KAH2000 kastelu
M item DESCRIPTION QY.

1 8302049 pn-letkukara 10mm-1/2" 8

2 | 8302050 pn-letkukara 10mm-1/4" 3

3 | 8358006 T-liitin 10mm puserrus/ 1/2sisdk 11
4 | 8358021 Tulppa 2
5 | 8358005 Suutin Hb1/4vv-11004 Veegjet 10
6 | 8352162 Méx20 DIN 912 10
9 | 8303016 C1 puolikas yhdelle putkelle 20
8 | 8358030 Puserrusliitin 20ast T0mm 2
9 | 8352092 M5x25 DIN 7985 6
10 | 8358001 Vesipumppu 12V 1

11 | 8352153 Letkun kannake 2
12 | 8301067 Kaksoisnippa 1/2" Kartiokierteelld 3
13 | 8301078 T-liitin 1/2" SK (vesijarjestelma) 2
14 | 8301031 SUPIL. RIBS 3/4X1/2 ED RSl 2
15 | 8306001 Imusuodin 25l/min 125u R3/4 SF46B 2
16 | 8358025 Sulkuventtiili 1/2" 2
22 | 8358026 Letkuside ABA 13-20mm 14
18 | 8352152 M10x35 DIN 933 16
19 | 8352096 NYLOC-MUTTERI M10 - DIN985 ZnN 16
20 | 8352013 Aluslevy Din 125 Zn M12/ 13 16
21 | 8352076 Nyloc-mutteri Din 985 Zn Nm12 16
22 | 8352039 Kuusioruuvi 931/8.8zn M12x60 8
23 | 8302044 KAKSOISKIINNITIN PEITELEVY CF3U 8
24 | 8355007 VESISAILIO 155L, RAL7024 2
25 | 8355021 Vesisdilion korkki 2
26 | 4503190 Vesisdilion suojapelti 150l 2
27 | 4503849 KAH2000 vesisdilién tuki 2
28 | 8358029 10x8,4x195 Kupariputki 4
29 | 8358014 10x8,4x170 Kupariputki 3
30 | 8358020 10x8,4x750 Kupariputki 1

31 | 8358031 10x8,4x300 Kupariputki 4
32 | 8358012 10x8,4x70 Kupariputki 1

33 letku 200mm kah2000 s&ilié 2
34 letku 1750mm kh2000s vas.sdilid-hana 1

35 letku 500mm kah2000 oik.sdilid-hana 1

36 letku 250mm kah2000 hana-pumppu 1

37 letku 470mm kah2000 hana-pumppu 1

38 letku 780mm kah2000 vdaliputki-suuttimet | 1




T STARK

L by LAMETAL professional

KAH2000 hydrauliikka

o] item DESCRIPTION Qry.
1 8352144 M10 DIN 9021 2
2 8352151 M10x20 DIN 933 1
3 18352152 M10x35 DIN 933 1
4 12500168 RL tappi 30-95 hit 1
5 18303022 C5 puolikas HY-C530 é
6 |8303012| Hydr. moott. TFO280EY461AAAB 1
7 | 2500333 KAH yl&tappi 1
8 8352006 6-koloruuvi 912/8.8zn M6x40 6
9 18301051 | YHD.N. N/RUK1/2xRSP3/4 705-08-12 2
10 8301080 KURIR 3/8 1/2 UK (1Tmm reikd) 1
11 8306002 Huohotin 3/8" 1
12 18301040 SUNI R UK 3/4xRSK1/2 RSI-12-08 3
13 (8301035 KANI R UK 1/2 201-08 1
14 | 8304023 | Hydr.sylinteri 63-35-330-550 ge30 AA 1
15 18301048 T-NIPPA T R UK3/4 702-12 1
16 (8301055 JATKONIPPA N/R SP 3/4 707-12 1
17 (8301007 | VASTAVENTT.1/2 TP300BAR VUR-08 1
18 8301061 SUUNN. T-L.IIT 1/2 7025-08 1
19 18305029 virtauksensaatdventtiili Fc51 1
20 [8305038 | VASTAVENTTIILI 3/4" VASTAP. 0,5bar 1
21 8301072 SU L-NIPPA UK 3/4 718-12 1
22 8301079 SUUNN. T-L.IIT 3/4 702S-12 1
23 8352004 6-koloruuvi 912/8.8zn M6x30 6
24 8303021 C4 puolikas HY-C420 6
25 4501101 virt.vent-kiinnityslevy 1
26 8352023 Mé DIN 127 B 2
27 8352007 6-koloruuvi 912/8.8zn M6x60 2

1

N
(0]

KAH2000S letkusetti




	KAH2000 kansikuva.PDF
	Sheet1
	Drawing View1


	Säästöteräsetti 2130 (3x710).PDF
	Sheet1
	Drawing View1


	1050229.PDF
	Sheet1
	Drawing View1


	KAH2000 telaston nostorunko.PDF
	Sheet1
	Drawing View1


	KAH2000 kastelu.PDF
	Sheet1
	Drawing View1
	Detail View A (1 : 5)
	Drawing View3


	KAH2000 hydrauliikka.PDF
	Sheet1
	Drawing View1
	Drawing View2



